

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 1, 2020

Progress Estima	ate Number	Contract ID Prime Contractor	190816-B01 Bleigh Construction	n Company			Original Contract Amou Net Change Order Amou Current Contract Amou	int (\$17,848.60)		
Approval Date								By User		
July 1, 2020		Generated and Approved (and should be considered Draft) at the Project Office Level by								
July 1, 2020			Reviewed and Appro	oved (and sh	ould be considered	d Draft) at the Re	esident Engineer Level by	domzar		
July 2, 2020			I	Reviewed ar	Controllers Office Level by	greggd1				
Original Comp	mpletion Date Current Completion Date Actual Completion Date % of Current Contract Am						of Current Contract Amou	nt Complete		
December	1, 2020	Decembe	er 1, 2020	Jui	ne 26, 2020		97.97%			

No Milestones Exist for Contract

Contract Total Pa	ay For Estimate No. 8				
		This Estimate	Previous	To Date	
190816-B01					
	Total Posted Items Pay	\$156,594.65	\$630,591.50	\$787,186.15	
	Gross Item Adjustments	(\$3,450.00)	\$0.00	(\$3,450.00)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$630,591.50	\$783,736.15	
Contract Total Pa	ayable This Estimate:	\$153,144.65			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installe Amount
I2P3085	0020	2022010	REMOVAL OF IMPROVEMENTS	LS	\$6,800.000	0.75	\$5,100.00
	0030	2031000	CLASS A EXCAVATION	CUYD	\$16.600	726	\$12,051.6
	0040	2036000	COMPACTING EMBANKMENT	CUYD	\$7.200	230	\$1,656.0
	0050	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	100F	\$850.000	2	\$1,700.0
	0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$17.000	56.7	\$963.9
	0070	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	TONS	\$70.000	8	\$560.0
	0800	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	TONS	\$75.000	7	\$525.0
	0090	4010151	TYPE A3 SHOULDER	SQYD	\$19.500	56.7	\$1,105.6
	0100	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$500.000	47.8	\$23,900.0
	0120	4071005	TACK COAT	GAL	\$13.000	118.2	\$1,536.6
	0130	6113020	FURNISHING TYPE 2 ROCK BLANKET	CUYD	\$30.000	754	\$22,620.0
	0140	6113040	PLACING TYPE 2 ROCK BLANKET	CUYD	\$17.000	754	\$12,818.0
	0220	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	EA	\$1,400.000	1	\$1,400.0
	0250	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$10.300	456	\$4,696.8
	0260	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$10.300	264	\$2,719.2
	0270	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	SQYD	\$2.200	1,132	\$2,490.4
	0280	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$3,700.000	0.5	\$1,850.0
	0300	8061005	ROCK DITCH CHECK	LF	\$34.000	14	\$476.0
	0350	6061060	MGS GUARDRAIL	LF	\$46.000	25	\$1,150.0
	0360	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$3,700.000	2	\$7,400.0
	0370	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,500.000	2	\$7,000.0
	0380	9039902	MISC.PERMANENT SIGN RELOCATION	EA	\$290.000	2	\$580.0
	0410	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	SQYD	\$158.000	146	\$23,068.0
	5002	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	65.9	\$21,417.5		
	5003	4039902	MISC.SAVINGS FROM ELIMINATION OF SEC 403 MIXTURE	EA	(\$2,190.000)	1	(\$2,190.0
roject J2I	P3085 - To	tal					\$156,594.6

Revision 4/1/2020 Page 1 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 1, 2020

Progress	Estimate 8	Number	Contract ID Prime Contractor	190816-B01 Bleigh Construction Company	Pay Period Start J Pay Period End J		20 Net Chan		nt (\$17,848.60)
Project Number	Line Number	Item Code		Item Description		Unit	Unit Price	Current Installed Qty	Current Installed Amount

Overall - Total \$156,594.65

Contract Adjustments This Estimate

Project	Line	Item Description	Adjustment	Other Item	Comments	Adjustment	Line Item	Adjustment
Number	No.	·	Туре	Adjustment Type		Quantity	Adjustment Unit Price	amount
2P3085	0040	COMPACTING EMBANKMENT	Material			-230	\$7.20	(\$1,656.00
	0040	COMPACTING EMBANKMENT	Other Item Adjustment	Material Discrepancy Payment Adjustment				\$1,656.00
	0050	SUBGRADE COMPACTION (6-INCH DEPTH)	Material			-2	\$850.00	(\$1,700.00
	0050	SUBGRADE COMPACTION (6-INCH DEPTH)	Other Item Adjustment	Material Discrepancy Payment Adjustment				\$1,700.00
	0060	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material			-56.7	\$17.00	(\$963.90
	0060	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Other Item Adjustment	Material Discrepancy Payment Adjustment				\$963.90
	0070	MISC.	Material			-8	\$70.00	(\$560.00
	0070	MISC.	Other Item Adjustment	Material Discrepancy Payment Adjustment				\$560.00
	0800	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	Material			-7	\$75.00	(\$525.00
	0080	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	Other Item Adjustment	Material Discrepancy Payment Adjustment				\$525.00
	0090	TYPE A3 SHOULDER	Material			-56.7	\$19.50	(\$1,105.65
	0090	TYPE A3 SHOULDER	Other Item Adjustment	Material Discrepancy Payment Adjustment				\$1,105.65
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Overrun			-6.9	\$500.00	(\$3,450.00
	0120	TACK COAT	Material			-118.2	\$13.00	(\$1,536.60
	0120	TACK COAT	Other Item Adjustment	Material Discrepancy Payment Adjustment				\$1,536.60
	0220	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	Material			-1	\$1,400.00	(\$1,400.00
	0220	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	Other Item Adjustment	Material Discrepancy Payment Adjustment				\$1,400.00
	0360	MGS BRIDGE APPROACH TRANSITION SECTION	Material			-2	\$3,700.00	(\$7,400.00

Page 2 of 13 Revision 4/1/2020

(\$3,450.00)



Total

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 1, 2020

Progr		imate Number 8	Contract ID Prime Cont		-B01 Construction Compai			Original Contract Net Change Ord Current Contract	\$821,331.25 (\$17,848.60) \$803,482.65	
Project Number	Line No.	Item Desc	ription	Adjustment Type	Other Item Adjustment Type	Commer	nts	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2P3085		(REGULA	R/NO CURB)							
	0360		APPROACH ON SECTION R/NO CURB)	Other Item Adjustment	Material Discrepancy Payment Adjustment					\$7,400.00
	0370	TYPE A CRA END TERMI	SHWORTHY NAL (MASH)	Material				-2	\$3,500.00	(\$7,000.00
	0370	TYPE A CRA END TERMI	SHWORTHY NAL (MASH)	Other Item Adjustment	Material Discrepancy Payment Adjustment					\$7,000.00
	0410	BRIDGE APPR (MI	OACH SLAB INOR ROAD)	Material				-146	\$158.00	(\$23,068.00
	0410	BRIDGE APPR (MI	OACH SLAB INOR ROAD)	Other Item Adjustment	Material Discrepancy Payment Adjustment					\$23,068.00
	0450	SAFETY BAF	RRIER CURB	MaterialCredit				301	\$89.00	\$26,789.00
	0450	SAFETY BAF	RRIER CURB	Material				-301	\$89.00	(\$26,789.00
	0460		CONCRETE CENT BEAM	MaterialCredit				480	\$235.00	\$112,800.00
	0460		CONCRETE CENT BEAM	Material				-480	\$235.00	(\$112,800.00

Revision 4/1/2020 Page 3 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informat	ion
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J2P3085	FAS S201(26)	Bridge replacement	79	LINCOLN	0.1 Mile South of Route N	I near Winfield	
Totals by J	Job Numbe	ers					
J2P3085		d Item Pay Item Adjustm		s Item Pay	This Estimate \$156,594.65 (\$3,450.00) \$153,144.65	Previous \$630,591.50 \$0.00 \$630,591.50	To Date \$787,186.15 (\$3,450.00) \$783,736.15
	Liquid	tive centive dated Damage: Contract Adju		i	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00

Revision 4/1/2020 Page 4 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 2036000, Project Item Line Number 0040, Material Set 203600096, Material 0200XXCS - Compacted Soil for Subgrade orEmbankment, Acceptance Action Generic 0200XXCS is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 2101006A, Project Item Line Number 0050, Material Set 2101006A96, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 3040143, Project Item Line Number 0060, Material Set 304014396, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 3049910, Project Item Line Number 0070, Material Set 304991096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 3107002, Project Item Line Number 0080, Material Set 310700296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 4010151, Project Item Line Number 0090, Material Set 401015196, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 4010151, Project Item Line Number 0090, Material Set 401015196, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 4010151, Project Item Line Number 0090, Material Set 401015196, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 4071005, Project Item Line Number 0120, Material Set 407100596, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 4071005, Project Item Line Number 0120, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 5031011A, Project Item Line Number 0410, Material Set 5031011A96, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 5031011A, Project Item Line Number 0410, Material Set 5031011A96, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 5031011A, Project Item Line Number 0410, Material Set 5031011A96, Material 1058PSBB - Polyethylene Sheeting for Bond Breaker, Acceptance Action Generic 1058PSBB is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 5031011A, Project Item Line Number 0410, Material Set 5031011A96, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 5031011A, Project Item Line Number 0410, Material Set 5031011A96, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 5031011A, Project Item Line Number 0410, Material Set 5031011A96, Material 1013DMCRPE04 - Underdrain Corrugated PE 4" (100mm), Acceptance Action Generic 1013DMCRPE04 is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 6061069, Project Item Line Number 0360, Material Set 606106996, Material 1040GRAB - Bridge Anchor Section, Acceptance Action Generic 1040GRAB is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 6063014, Project Item Line Number 0370, Material Set 606301496, Material 1040GRCWA - Crashworthy End Terminal Type A, Acceptance Action Generic 1040GRCWA is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 6200033, Project Item Line Number 0220, Material Set 620003396, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 7034215, Project Item Line Number 0450, Material Set 703421596, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 7034215, Project Item Line Number 0450, Material Set 703421596, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 7034215, Project Item Line Number 0450, Material Set 703421596, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 7034215, Project Item Line Number 0450, Material Set 703421596, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 7034226, Project Item Line Number 0460, Material Set 703422696, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance	No Remark was entered by Engineer	foxd	Unresolved

Revision 4/1/2020 Page 5 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Action Generic 1005FACCNSCA is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 7034226, Project Item Line Number 0460, Material Set 703422696, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Insufficient Materials: Project J2P3085, Item 7034226, Project Item Line Number 0460, Material Set 703422696, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	No Remark was entered by Engineer	foxd	Unresolved
Estimate Exception Type: Item Overrun: Contract 190816-B01, Contract Project J2P3085, Project Item Line Number 0100, Contract Line Item Number 0100, Item 4011209, Minor Item.	No Remark was entered by Engineer	foxd	Unresolved

Revision 4/1/2020 Page 6 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract lm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor- generated date)
90816-B01	J2P3085	0001	0010	2019901	MISC.CLEARING AND GRUBBING	1.00	0.00	1.00	LS	1.00	\$4,500.00	\$4,500.0
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$6,800.00	\$6,800.0
		0001	0030	2031000	CLASS A EXCAVATION	726.00	0.00	726.00	CUYD	726.00	\$16.60	\$12,051.6
		0001	0040	2036000	COMPACTING EMBANKMENT	230.00	0.00	230.00	CUYD	230.00	\$7.20	\$1,656.0
		0001	0050	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	2.00	0.00	2.00	100F	2.00	\$850.00	\$1,700.0
		0001	0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	56.70	0.00	56.70	SQYD	56.70	\$17.00	\$963.9
		0001	0070	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	8.00	0.00	8.00	TONS	8.00	\$70.00	\$560.0
		0001	0080	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	7.00	0.00	7.00	TONS	7.00	\$75.00	\$525.
		0001	0090	4010151	TYPE A3 SHOULDER	56.70	0.00	56.70	SQYD	56.70	\$19.50	\$1,105.
		0001	0100	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	40.90	0.00	40.90	TONS	47.80	\$500.00	\$23,900.
		0001	0110	4030101	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP125C MIX)	79.40	-79.40	0.00	TONS	0.00	\$375.00	\$0.
		0001	0120	4071005	TACK COAT	118.20	0.00	118.20	GAL	118.20	\$13.00	\$1,536.
		0001	0130	6113020	FURNISHING TYPE 2 ROCK BLANKET	868.00	0.00	868.00	CUYD	853.00	\$30.00	\$25,590.
		0001	0140	6113040	PLACING TYPE 2 ROCK BLANKET	868.00	0.00	868.00	CUYD	853.00	\$17.00	\$14,501.
		0001	0150	6161005	CONSTRUCTION SIGNS	1,058.00	0.00	1,058.00	SQFT	1,058.00	\$7.00	\$7,406
		0001	0160	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$40.00	\$160
		0001	0170	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$23.00	\$46
		0001	0180	6161010	RELOCATED SIGNS	64.00	0.00	64.00	SQFT	64.00	\$6.00	\$384
		0001	0190	6161030	TYPE III MOVEABLE BARRICADE	13.00	0.00	13.00	EA	13.00	\$144.00	\$1,872
		0001	0200	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,400.00	\$6,800
		0001	0210	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$64,500.00	\$64,500
		0001	0220	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	1.00	0.00	1.00	EA	1.00	\$1,400.00	\$1,400
		0001	0230	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	745.00	0.00	745.00	LF	0.00	\$2.00	\$1
		0001	0240	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	203.00	0.00	203.00	LF	0.00	\$2.00	\$0
		0001	0250	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	456.00	0.00	456.00	SQYD	456.00	\$10.30	\$4,69
		0001	0260	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	726.00	0.00	726.00	SQYD	264.00	\$10.30	\$2,71
		0001	0270	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	1,303.00	0.00	1,303.00	SQYD	1,281.00	\$2.20	\$2,81
		0001	0280	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$3,700.00	\$3,70
		0001	0290	8059901	MISC.SEEDING - COOL SEASON	1.00	0.00	1.00	LS	0.00	\$4,300.00	\$1
		0001	0300	8061005	ROCK DITCH CHECK	14.00	0.00	14.00	LF	14.00	\$34.00	\$47
		0001	0310	8061016	SEDIMENT REMOVAL	5.00	0.00	5.00	CUYD	0.00	\$53.00	\$1
		0001	0320	8061019	SILT FENCE	397.00	-197.00	200.00	LF	150.00	\$6.30	\$94
		0001	0330	8061050	TYPE C BERM	483.00	-483.00	0.00	LF	0.00	\$23.00	\$
		0001	0340	8069901	MISC.TEMPORARY SEEDING AND MULCHING	1.00	0.00	1.00	LS	0.00	\$2,000.00	\$
		0010	0350	6061060	MGS GUARDRAIL	25.00	0.00	25.00	LF	25.00	\$46.00	\$1,15
		0010	0360	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	2.00	0.00	2.00	EA	2.00	\$3,700.00	\$7,40
		0010	0370	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	2.00	\$3,500.00	\$7,00
		0040	0380	9039902	MISC.PERMANENT SIGN RELOCATION	2.00	0.00	2.00	EA	2.00	\$290.00	\$58
		0070	0390	2061000	CLASS 1 EXCAVATION	100.00	0.00	100.00	CUYD	100.00	\$31.00	\$3,10
		0070	0400	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$27,900.00	\$27,90
		0070	0410	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	146.00	0.00	146.00	SQYD	146.00	\$158.00	\$23,06
		0070	0420	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	1,102.00	0.00	1,102.00	LF	1,085.00	\$63.00	\$68,35
		0070	0430	7027000	PILE POINT REINFORCEMENT	22.00	0.00	22.00	EA	22.00	\$110.00	\$2,420
		0070	0440	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	76.70	0.00	76.70	CUYD	76.70	\$750.00	\$57,525

Revision 4/1/2020 Page 7 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
190816-B01	J2P3085	0070	0450	7034215	SAFETY BARRIER CURB	301.00	0.00	301.00	LF	301.00	\$89.00	\$26,789.00
		0070	0460	7034226	SLAB ON CONCRETE ADJACENT BEAM	480.00	0.00	480.00	SQYD	480.00	\$235.00	\$112,800.00
		0070	0470	7056061	22 IN., PRESTRESSED CONCRETE DOUBLE-TEE GIRDER	650.00	0.00	650.00	LF	650.00	\$325.00	\$211,250.00
		0070	0480	7061060	REINFORCING STEEL (BRIDGES)	4,440.00	0.00	4,440.00	LB	4,440.00	\$1.38	\$6,127.20
		0070	0490	7123610	SLAB DRAIN	20.00	0.00	20.00	EA	20.00	\$476.00	\$9,520.00
		0070	0500	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00
		0070	0510	7161000	PLAIN NEOPRENE BEARING PAD	20.00	0.00	20.00	EA	20.00	\$90.00	\$1,800.00
		0070	0520	7161002	LAMINATED NEOPRENE BEARING PAD	40.00	0.00	40.00	EA	40.00	\$105.00	\$4,200.00
		0001	5001	8061006	ALTERNATE DITCH CHECK	0.00	105.00	105.00	LF	105.00	\$6.30	\$661.50
		0001	5002	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	0.00	79.40	79.40	TONS	65.90	\$325.00	\$21,417.50
		0001	5003	4039902	MISC.SAVINGS FROM ELIMINATION OF SEC 403 MIXTURE	0.00	1.00	1.00	EA	1.00	(\$2,190.00)	(\$2,190.00)
	Project J	2P3085 - To	tal Value	Posted to D	Date as of Report Generated Date							\$787,186.15
190816-B01 Ove	rall - Total	Value Post	ted to Da	te as of Rep	ort Generated Date							\$787,186,15

Revision 4/1/2020 Page 8 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J2P3085

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2022010	REMOVAL OF IMPROVEMENTS	6/27/20	7/1/20	0.75	LS	various	.1				
0030	2031000	CLASS A EXCAVATION	6/27/20	7/1/20	726.00	CUYD	various	874+08.07		879+03.14		
0040	2036000	COMPACTING EMBANKMENT	6/27/20	7/1/20	230.00	CUYD	various	874+08.07		879+03.14		
0050	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	6/27/20	7/1/20	2.00	100F	A3 shoulder	874+08.07		875+74.11		
0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	6/19/20	7/1/20	56.70	SQYD	west shoulder	874+08.07		875+74.11		
0070	3049910	MISC. AGGREGATE FOR BASE	6/23/20	7/1/20	8.00	TONS	various	.1				
0080	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT	6/24/20	7/1/20	7.00	TONS	abandon station entrance					
0090	4010151	TYPE A3 SHOULDER	6/19/20	7/1/20	56.70	SQYD	west shoulder	874+08.07		875+74.11		
0100	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	6/19/20	7/1/20	47.80	TONS	various locations	.1				
0120	4071005	TACK COAT	6/19/20	7/1/20	118.20	GAL	various	.1				
0130	6113020	FURNISHING TYPE 2 ROCK BLANKET	6/16/20	7/1/20	754.00	CUYD	various	.1				approx. 10' x 20' short on NW corner of bridge
0140	6113040	PLACING TYPE 2 ROCK BLANKET	6/16/20	7/1/20	754.00	CUYD	various	.1				approx. 10' x 20' short on NW corner of bridge
0220	6200033	PREF THERMO PVMT MARK, R/R XING	6/25/20	7/1/20	1.00	EA	Rte. N	.1				
0250	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	6/18/20	7/1/20	456.00	SQYD	both sides of bridge					
0260	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6/18/20	7/1/20	264.00	SQYD	both sides of the bridge					
0270	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	6/16/20	7/1/20	1,132.00	SQYD	various					approx. 10' x 20' short on NW corner of bridge
0280	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	6/27/20	7/1/20	0.50	LS		.1				
0300	8061005	ROCK DITCH CHECK	6/27/20	7/1/20	14.00	LF	in ditch west and east of bridge	.1				
0350	6061060	MGS GUARDRAIL	6/24/20	7/1/20	25.00	LF	NW and SE corners of bridge					
0360	6061069	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	6/24/20	7/1/20	2.00	EA	NW and SE corners of bridge					
0370	6063014	TYPE A CRSHWTHY END TERMINAL (MASH)	6/24/20	7/1/20	2.00	EA	NW and SE corners of bridge					
0380	9039902	MISC.	6/23/20	7/1/20	2.00	EA	west shoulder area across from rte. N	874+97.30, 875+13.24				
0410	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	6/18/20	7/1/20	146.00	SQYD	both ends of the bridge					
5002	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	6/19/20	7/1/20	65.90	TONS	both sides of bridge	.1				
5003	4039902	MISC.	6/19/20	7/1/20	1.00	EA		.1				

The information below this line are details from Line Item agency views. No Agency View Details Exist

Revision 4/1/2020 Page 9 of 13



Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
0040	COMPACTING EMBANKMENT	Material	Туре	8	Jul 1,	SYSTEM	(\$1,656.00)	
					2020			
			- Total				(\$1,656.00)	
	Material - Total	Otto o ii lt o iio	MDDA	0	lul 4	found	(\$1,656.00)	
	COMPACTING EMBANKMENT	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$1,656.00	
			MDPA - Total				\$1,656.00	
	Other Item Adjustment - Total						\$1,656.00	
0040 -							\$0.00	
0050	SUBGRADE COMPACTION (6-INCH DEPTH)	Material		8	Jul 1, 2020	SYSTEM	(\$1,700.00)	
			- Total				(\$1,700.00)	
	Material - Total						(\$1,700.00)	
	SUBGRADE COMPACTION (6-INCH DEPTH)	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$1,700.00	
			MDPA - Total				\$1,700.00	
	Other Item Adjustment - Total						\$1,700.00	
0050 -							\$0.00	
0060	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material		8	Jul 1, 2020	SYSTEM	(\$963.90)	
			- Total				(\$963.90)	
	Material - Total						(\$963.90)	
	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$963.90	
			MDPA - Total				\$963.90	
	Other Item Adjustment - Total						\$963.90	
0060 -	Total						\$0.00	
0070	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Material		8	Jul 1, 2020	SYSTEM	(\$560.00)	
			- Total				(\$560.00)	
	Material - Total						(\$560.00)	
	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$560.00	
			MDPA - Total				\$560.00	
	Other Item Adjustment - Total						\$560.00	
0070 -							\$0.00	
0800	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	Material		8	Jul 1, 2020	SYSTEM	(\$525.00)	
			- Total				(\$525.00)	
	Material - Total						(\$525.00)	
	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$525.00	
			MDPA - Total				\$525.00	
	Other Item Adjustment - Total						\$525.00	
0080 -						2) (==	\$0.00	
0090	TYPE A3 SHOULDER	Material		8	Jul 1, 2020	SYSTEM	(\$1,105.65)	
			- Total				(\$1,105.65)	
	Material - Total	au :					(\$1,105.65)	
	TYPE A3 SHOULDER	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$1,105.65	
			MDPA - Total				\$1,105.65	
	Other Item Adjustment - Total						\$1,105.65	
0090 -						0)/2==	\$0.00	
0100	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Overrun	Overrun		Jul 1, 2020	SYSTEM	(\$3,450.00)	
			Overrun - Total				(\$3,450.00)	

Revision 4/1/2020 Page 10 of 13



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0100	Overrun - Total						(\$3,450.00)	
0100 -	Total						(\$3,450.00)	
0120	TACK COAT	Material		8	Jul 1, 2020	SYSTEM	(\$1,536.60)	
			- Total				(\$1,536.60)	
	Material - Total						(\$1,536.60)	
	TACK COAT	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$1,536.60	
			MDPA - Total				\$1,536.60	
	Other Item Adjustment - Total						\$1,536.60	
0120 -	Total						\$0.00	
0220	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	Material		8	Jul 1, 2020	SYSTEM	(\$1,400.00)	
			- Total				(\$1,400.00)	
	Material - Total		_				(\$1,400.00)	
	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$1,400.00	
			MDPA - Total				\$1,400.00	
	Other Item Adjustment - Total						\$1,400.00	
0220 -	Total						\$0.00	
0360	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Material		8	Jul 1, 2020	SYSTEM	(\$7,400.00)	
			- Total				(\$7,400.00)	
	Material - Total						(\$7,400.00)	
	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$7,400.00	
			MDPA - Total				\$7,400.00	
	Other Item Adjustment - Total						\$7,400.00	
0360 -	Total						\$0.00	
0370	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		8	Jul 1, 2020	SYSTEM	(\$7,000.00)	
			- Total				(\$7,000.00)	
	Material - Total						(\$7,000.00)	
	TYPE A CRASHWORTHY END TERMINAL (MASH)	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$7,000.00	
			MDPA - Total				\$7,000.00	
	Other Item Adjustment - Total						\$7,000.00	
0370 -	Total						\$0.00	
0410	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		8	Jul 1, 2020	SYSTEM	(\$23,068.00)	
			- Total				(\$23,068.00)	
	Material - Total						(\$23,068.00)	
	BRIDGE APPROACH SLAB (MINOR ROAD)	Other Item Adjustment	MDPA	8	Jul 1, 2020	foxd	\$23,068.00	
			MDPA - Total				\$23,068.00	
	Other Item Adjustment - Total						\$23,068.00	
0410 -							\$0.00	
0420	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	Construction Stockpile		1	Jan 6, 2020	SYSTEM	\$27,775.25	Payment Estimate Item Adjustment generated Stockpile Transaction
				3	Apr 17, 2020	SYSTEM	(\$27,775.25)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0420 -	Total						\$0.00	
0430	PILE POINT REINFORCEMENT	Construction Stockpile		1	Jan 6, 2020	SYSTEM	\$2,090.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				2	Apr 2,	SYSTEM	(\$2,090.00)	Payment Estimate Item Adjustment

Revision 4/1/2020 Page 11 of 13



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		Туре	Adjustment Type	Number	Date	Ву		
0430	PILE POINT REINFORCEMENT	Construction Stockpile			2020			generated Stockpile Transaction
		'	- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0430 -							\$0.00	
0440	CLASS B CONCRETE (SUBSTRUCTURE)	Material		4	May 4, 2020	SYSTEM	(\$57,525.00)	
		- Total				(\$57,525.00)		
	Material - Total						(\$57,525.00)	
	CLASS B CONCRETE (SUBSTRUCTURE)	MaterialCredit		5	May 18, 2020	SYSTEM	\$57,525.00	
			- Total				\$57,525.00	
	MaterialCredit - Total						\$57,525.00	
	CLASS B CONCRETE (SUBSTRUCTURE)	Other Item Adjustment	MDPA	4	May 4, 2020	foxd	\$57,525.00	
				5	May 18, 2020	foxd	(\$57,525.00)	
			MDPA - Total				\$0.00	
	Other Item Adjustment - Total						\$0.00	
0440 -	Total						\$0.00	
0450	SAFETY BARRIER CURB	Material		7	Jun 16, 2020	SYSTEM	(\$26,789.00)	
				8	Jul 1, 2020	SYSTEM	(\$26,789.00)	
			- Total				(\$53,578.00)	
	Material - Total						(\$53,578.00)	
	SAFETY BARRIER CURB	MaterialCredit		8	Jul 1, 2020	SYSTEM	\$26,789.00	
			- Total				\$26,789.00	
	MaterialCredit - Total						\$26,789.00	
	SAFETY BARRIER CURB	Other Item Adjustment	MDPA	7	Jun 16, 2020	foxd	\$26,789.00	
		,	MDPA - Total				\$26,789.00	
	Other Item Adjustment - Total						\$26,789.00	
0450 -	Total						\$0.00	
0460	SLAB ON CONCRETE ADJACENT BEAM	Material		6	Jun 2, 2020	SYSTEM	(\$67,680.00)	
				7	Jun 16, 2020	SYSTEM	(\$112,800.00)	
				8	Jul 1, 2020	SYSTEM	(\$112,800.00)	
			- Total				(\$293,280.00)	
	Material - Total						(\$293,280.00)	
	SLAB ON CONCRETE ADJACENT BEAM	MaterialCredit		7	Jun 16, 2020	SYSTEM	\$67,680.00	
				8	Jul 1, 2020	SYSTEM	\$112,800.00	
			- Total				\$180,480.00	
	Material Credit - Total						\$180,480.00	
	SLAB ON CONCRETE ADJACENT BEAM	Other Item Adjustment	MDPA	6	Jun 2, 2020	foxd	\$67,680.00	
				7	Jun 16, 2020	foxd	\$112,800.00	
				7	Jun 16, 2020	foxd	(\$67,680.00)	
			MDPA - Total				\$112,800.00	
	Other Item Adjustment - Total						\$112,800.00	
0460 -							\$0.00	
0470	22 IN., PRESTRESSED CONCRETE DOUBLE-TEE	Construction		3	Apr 17,	SYSTEM	\$151,493.94	Payment Estimate Item Adjustment
	,			_	4		, ,	,

Revision 4/1/2020 Page 12 of 13



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0470	GIRDER	Stockpile			2020			generated Stockpile Transaction
				5	May 18, 2020	SYSTEM	(\$151,493.94)	Payment Estimate Item Adjustment generated Stockpile Transaction
		- Total				\$0.00		
	Construction Stockpile - Total		\$0.00					
0470 -	Total						\$0.00	
5001	ALTERNATE DITCH CHECK	Material		4	May 4, 2020	SYSTEM	(\$661.50)	
			- Total				(\$661.50)	
	Material - Total						(\$661.50)	
	ALTERNATE DITCH CHECK	MaterialCredit		5	May 18, 2020	SYSTEM	\$661.50	
			- Total				\$661.50	
	MaterialCredit - Total						\$661.50	
	ALTERNATE DITCH CHECK	Other Item Adjustment	MDPA	4	May 4, 2020	foxd	\$661.50	
				5	May 18, 2020	foxd	(\$661.50)	
	MDPA - Total						\$0.00	
	Other Item Adjustment - Total						\$0.00	
5001 -	Total		\$0.00					
Overa	II - Total		(\$3,450.00)					

Revision 4/1/2020 Page 13 of 13